PART - A (GENERAL KNOWLEDGE)

1. The Lakshadweep islands are situated in-
L) Indian Ocean (B) Arabian Sca (C) Bay of Bengal (D) None of these
2. Which among these does NOT belong to the cat family?
(\) Jaguar * (B) Lynx «1C) Mountain goat (ID) Mountain cat

3. Which of the following is India's highest Civilian Award?

A) Padma Vibhushan (B) Param Vir Chakra , &) Bharat Ratna (12) Padma Shid
+. Which country has the largest postal network in the world?
A) TISA D) China ) Brazil (I2) India
5. Baghdad is the capital of which country?
) Afghanistan (B) Kuwait () Saudi Arabia D) Iraq
6. Sanchi stupa is located at- i
A) Madhya Pradesh  (B) Andhra Pradesh |_{C) Uttar Pradesh (12) Himachal Pradesh
7. Which is the official State flower of Jharkhand?
‘\) Palash LAB) Lotus (C) Kandhal (I3} Jarul

8. Who among the following is known as the 'Father of the Indian Constitution'?
Y Dr. B.R. Ambedkar (B) Mahatma Gandhi  (C) Jawahadal Nehru (D) Vallabhbhai Patel

9. Which of these cities was known in the past as Constantinople?

A) Madrd 1AB) Istanbul (©) Tyre (D) Cairo
10. Ringgitis the currency of which country?
4) Maldives ADB) Mali (CC) Malaysia (D) Malra
11. Nautanki, a folk dance is famous in which of the following States?
\) Madhya Pradesh (4B) Uttar Pradesh (C) Arunachal Pradesh (D) Meghalaya
12. World Postal Day is observed on-
Qctober - 6 AB) October -9 (C) October - 16 (D) October - 19
3. Who is the author of the famous book ‘Malgudi Days’?
A) Khushwant Singh  (B) Shobha De () Salman Rushdie 1) R.K. Narayan
11, Which of these is an edible salt?
(\) Sodium Carbonate VLB} Sodiumn Chloride () Pnt?ssimn (D) Potassium Cyanide
.arbonate

15. Who is the present Chief Minister of Tamil Nadu?
LA4A) J. Javalalithaa (1) M. Karunanidhi

(C) M.G. Ramachandran (I>) None of these

16. Who was the first Indian Commander-in-Chief of the Indian Armed Forces?
A) SILE]J. Manekshaw (B) SM. Shrinagesh
) Maharaja Rajendra Singhji (D) K.M. Cariappa

17. Which city in USA is also called as 'City of Golden Gate'?
A) New York &B} San ['rancisco () Florida D) Gl a
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18. Which State has the longest coastline in India?

(\) Gujarar 1tB) Tamil Nadu () Karnataka (D) Andhra Pradesh
19. The vitamin which cannot be had from any vegetables is-
(\) Vitamin B (B) Viramin C (C) Vitamin D AD) Vitamin [
20. Who was the first speaker of Lok Sahha?
(A) Ganesh Vasudev  #B) P.Upendra (€) Ananthasayanam (D) Hukam Singh
Mavalankar Avyangar

21. Among the following, which is the oldest sport?

~(A) Archery (B) Kabaddi (©) Cricket (D) Baseball
22, Whatis the expansion of VAT?
A) Value Added Tax  (B) Value Available () Voice Able Tax (1) Value \gainst Ta
Tax

23. Which king had Kalinga as his capital?

Chandragupta B) Ashoka (C) Tipu Sultan (I2) Maharana Pratap
24. Which planet is known as the “Red planet”?
\) Jupiter B) Venus AC) Mars (D) Mercury

25. Ankit Sharma, who recently qualified for 2016 Rio Olympics, is associated with which

sport?

(-\) Sprint (B) Longjump 1C) Archery (D) Boxing
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PART - B (MATHEMATICS)

- —

{ . What decimal of an hout is a minute?
o /TA) 001667 (B) 0.16667 () 036000 (1) 0.60606

Arun starts 2 business with € 4900 and afier 5 months, Babu joins with Arun as his partner.
After a vear, the profit is divided in the ratio of 2 : 3. What is Babu's contribution in the
capital®

< 1100 A) T 11600 C) 12000 (D) T 12600

2% Mohit crosses 2 1200 m long stzeet in 4 minutes. What is his speed in km per hour?
P P
6.5 AB) 83 (C) 9.5 D) 18

e —

293 The true discount on a bill for T 1260 due 6 months hence at 10% per annum is-
_4B) F 80 () 160 (13) ¥ 260

Al

32 Find the greatest common divisor of 420 and 168,

A) 42 B) 48 (©) 64 D) 84
3¥ A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:

(A) 145° (B) 150° &) 155° D) 160°
&2. Anangle is equal to one-third of its supplement. Its measure is equal to:

(A) 40° B 45° () 50° D) 35°
33) Whatis the difference between the Compound Interest on ¥ 5000 for 1.5 vears at 4% per
annum compounded vearly and half yearly?

VT 2.04 uB) T3.06 (€) T4.80 1) ¥8.30

A%, Prem can do a piece of work in 20 days and Prakash can do the same work in 15 days. If
they can work together for 5 days, what is the fraction of work left?

o) s -
£ 3 4 5
Ny — R £y — P
B L e & F AB) =5
3. Asum of money at Simple [nterest amounts to T 915 in 3 years and ¥ 954 in 4 vears. Then
the sum is:
A) T789 AB) T 79¢ ©) 2879 (D) T 897

367 A sum of money is to be distributed among W, X, Y and Z, in the proportion of 5:2:5: 3.
IfY gets ¥ 2000 more than Z, what is X's share?

V) T 1000 AB) T 2000 (€ Z 3000 ) F 1000

1. Two pipes A and B can fill a tank in 20 and 30 minutes respectively. Tf both the pipes are
used together, then how long will it take to fill the tank?

JA) 12 minures (B) 15 minutes {C) 25 minutes ( aﬂ‘&"‘m"m
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}5/ There are 'X' boys in the class. There are five more than three times the number of girls.
How many girls are in the class?

. X8 o Rl L X5 N+3
A = © ®)

-
]

33 If the average matks of three batches of 50, 55 and 60 students respectively is 55, 60 and 45.
What is the average marks of all the students?

AA) 53.03 (B) 54.03 () 55.03 (1) 56.03

M Ashok buys an old scooter for T 5700 and spends ¥ 300 on its repairs. If he sells the scooter
for ¥ 6500, his gain percent is:

i\} "2%% &B) 8.22%, /g) 8.33%, {D:} 8.44%%

34X The angle of elevation of the moon when the length of the shadow of a pole is equal to its
height is-
(A) 30° £ 45° ©) 60° (12) None of these

A2, Two numbers are in the ratio of 2 : 5. If fheii' LCM is 50, what is the sum of the numbers?
(A) 30 4B) 35 (© 40 (D) 45

#3. The diagonal of a rectangle is 29 cm and its atea is 10 $q. cm. The petimeter of the
tectangle must be-

(A) 12 em ) 14 em (Cy 16 cm (D) 18 cm
4 1f today is Friday, after 62 days, the day will be-

-\) Darurday B, Monday _ é&f} Tuesday A0} Lhursday
45. The square root of (3-1-\/3)(3-\/5) is:

A) 2 AB) 4 () 6 D)8

}f{ The angle of elevation of a ladder leaning against a wall is 60° and the foot of the laddet is
5.8 m away from the wall. The length of the ladder is-

(A) 10.6 m AB) 11.6m (€) 12.6 m D) 13.6 m
% When 0.34343434..... is converted into a fraction, then the result is-

oo o4 34 34 34

(B =— ) — 2 (D

o ®) 4 5 ®) 100
. 8. A man can row upstream at 8 km/hr and downstream at 13 km/ht. The speed of the
f stream is:

(A) 2.5 km/hr (B) 4.2 km/hr A7) 5 km/hr (D) 10.5 km/hr

49. Which of the following is a ptime numbes?
{\) 161 B 221 ) 373 (D) 437

A0. A tradesman sold an article at a loss of 20%. Tf the selling price had been increased by

€ 100, there would have been a gain of 5%. What was the cost price of the article?

(A) ¥ 300 B) Z 350 <€) Z 400 )2 agﬂadmcmn
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[ PART - C(i) ENGLISH E
+51. Choose the carrect synonym of the given word from the options given below.
MORTUARY
(A) Of morrality (B) Of physical pam &7 Of dearh or burial (1)) Of moral principles
A2. Choose the cotrect preposition from the given options to complete the sentence.

The officials have the habit of fawning ministets. '

(A) Above ) At © Oa ®) Iaﬂe"“m'm
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53. Inithe following question, cach sentence has four portions marked P, Q,RandS.
Reatrange it in the proper sequence in order to make a meaningful seatence.
Tt is known that the wosld's greatest men (P) / becoming sich (Q) / with 2 view to ®) /
have not laboured (5)

(A) PROQS (B) RQPS 1C) PSRQ (D) RQSP
1) Use the appropriate article for the sentence given below.
Ifyou are promoted, you will get __ bigher salary.
(A A B) An ) The (D) No article
£54 Choose the cortect antonym of the given word from the options given below.
TURBULENT
(A) Boilng (B) Tranquil (C) Disturbing D) Com fortable

56. Choose the meaning of the given idiomatic exp ression from the options given in quotes.
He 'did me a good tum' by recommending me for the post of Vice-Principal.
A} Returned my %) Did an act of ((7) Improved my (D) Became suddenly
g /I T l 2 LS -
kindness kindness prospects good
57. In the following question, each sentence has four parts marked P, Q, R and S. Choose the
* part of sentence with the error and matk as yout answet. 1f there is no error, matk
"No errot (S)' as your answet.

One of the problems (F) /in our business (Q) / arc that of disposing off the susplus. (R) /
No errot (S)

VY P ®) Q () R M) s
53. Choose the correct antonym of the given woid from the options given below.
RELIGIOUS
V) Secular (B) Sinful () Immozal () Atheistic
59, Choose the misspelt word.
(A) Zealot ) Corrobrate (C) Pragmatic (D) Tangible
60. Choose the correct adjective from the given options 10 complete the sentcnce.
An clephant’s brainis _ . 4 whale's brain.
(A) More big than AB) Bigger than () The bigger than () The biggest

@ Choose the correct form of the tense to complete the sentence.

The growing number of visitots the footpaths.
(A) Ts damaging [},Bj [ Lave damaged ) Was damaged (D) None of these

ﬁﬁ% Choose from the four options, the wotd that best substitutes the given phrase.
The educational institution where onc had his education.
(A) Alma mater (B) Soronty (_/t(f) Affiliation (D) Fraternity
63. Choose the approptiate wortd to complete the sentence.
. avory long time, this city has been prosperous.
(:\) Since /B For (C) From (D) Till
4. Choose the correct adverb from the given options to complete the sentence.

1 was too nnervous togo than halfivay up the towet.

A} Highe (B) Higl C) Most highe G s
£A) Higher B) High (C) Most hgher ’ ﬂ : se
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In the following question, each sentence has fout parts marked P, Q, R and S. Choose the

part of sentence with the etror and mark as your answer. If thete is no error, mark

'No error (S)' as your answer,

He refused to disclose to his friends (P) / whether he will leave for England (Q) /
immediately after finishing his studies. (R) / No ertor (S)

A) P AB) Q © R @) S

Choose the cotrect pronoun from the given options, to complete the sentence.

There is no need for you to come, I can carry the shopping

(A) Myself (B) Onmyown (C) All by myvself () Ourselt

In the following question, each sentence has four portions marked P, Q, R and S.
Rearrange it in the proper sequence in otder to make 2 meaning{ul sentence.

Since life has now become intensely competitive (P) / not only by the grades he
obtains (Q) / but also by his skill of observation and logical reasoning (R) / we judge a
person's intellectual worth (S)

(A) SPRQ (B) PSRQ (C) PQRS /) PSQR

Rewrite the sentence in direct speech:
Nita ordered her servant to bring her a cup of tea.

(A) Nira told her servant, "Bring a cup of tea  (B) Nira said, "Bring me a cup of tea.”

/(C) Nira said to her servant, "Bring me a cup of (D) Nita told her servant, "Bring her that cup of

£9.

tea." tea.”

Choose the correct synonym of the given word from the options given below.
RETRIEVE

(A) Reparr B) (all back () Retuin A} Recover

70.) Choose the cotrect verb from the given options to complete the sentence.

7A.

You will have ta _ what's available, as we are facing hard times now.
(\) Make on with AB) Make off with (C) Make do with (I3} None of these

Directions (Q. 71 - 75): Read the following passage catefully and answer the questions
given below,

Most human beings are awake during the day and sleep all night. Owls live the opposite
way. Owls ate nocturnal. 'This means that they sleep all day and stay awake at night.
Because owls are nocturnal, this means they must eat at night. But finding food in the dark
is difficult. To help them, they have special eyes and eats. Owls have very large eyes. These:
eyes absotb more light than normal. Since there is little light duting the night, it is helpful
to be able to absorb more of it. This helps owls find food in the dark. Owls also have very
good hearing. Even when owls ate in the ttees, they can hear small animals moving in the
grass below. This helps owls catch their prey even when it is very dark. Like owls, mice are
also nocturnal animals. Mice have an excellent sense of smell. This helps them find food in
the dark. Being nocturnal helps mice to hide from the many different animals that want to
eat them. Most of the birds, snakes and lizards that like to eat mice sleep at night-except,
of coutse, owls!

The author writes, “ This helps owls catch their prey even when it is very dark.”
Based on its use in the passage, we can undesstand that " prey" is:

(A} A noise that an anitnal makes during the (B) A small animal such as a pet dog or cat
night
€7) An animal that is hunted by other animals  (ID) An animal that hunts othe agm-m
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@ Based on information, it can be understood that mice sleep during the day in order to-
(A) Find food that ()I'lwr(l/?;) Keep themsclves () Store energy for (ID) Release stress
animals can not safe night time activitics
(73.) Using information in the passage as a guide, we can understand that an animal that is
diurnal-
(\) Sleeps at night and is awake duting the day (BB} Hunts during the day and is awake at g
(©) Sleeps every other night and is awake during (}9) Huats during the day and night
the day
A4. Based on information in the passage, it can be understood that an animal with small ey
(A) Must be diurnal (B) Has trouble sceing () Can see very well at (1) Ts likely to be e
in the dark might by an owl
75. From the passage, it can be understood that-
AN) Owls hunt mice (B) Mice can hide from owls

(€) Mice and owls both hide from birds, snakes (12) Birds and snakes often hunt lizards

and lizards
L
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